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B.Com. (Part - Ili)
Term End Examination, 2020

Paper -1

Income Tax

Time : Three Hours] [Maximum Marks : 75
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Note : Answer all questions. All questions carry equal

marks.
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What is Agricultural Income? How many
kinds of Agricultural Income are there ? Give
ten examples of Non-agricultural income.
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st vl F omad 2018-19 F AW FH
faan e wem #

v
(a) ooz § =R / AW
St wRa ¥ ww gan 12,000
() wiswA ¥ wem gufe |/
@ W wE F W gan 2,000

(0) Wireew § W= Hufg @

G T UE A A W OB 4,000
(@ TSt & =R | @,

T w % 4 9w ey

T WUR ya & fafm ¥ 5,000
(e) ¥ dyE ¥ Iufdq,

g famgE d 6,000
(N WRa d =R | ™ 15,000
@ @ ¥, T = ot g8

fadvit o <t W@ ad F

LUCHS 20,000
W faaw @ dhm v F w-fiakor

af 2019-20, 14 9f ¥ o Fo @ F}
oA FHifag, 3fE g8 —

(H Framt &

3)

(i sremme Fawd §
(i) A ¥

. Following are the wparticular of Income

of Shriram Sharma for the Previous Year
2018-19:

(a) Profit from business in England
received in India 12,000
(b) Income from House porperty in
Pakistan received in India 2,000
(¢) Income from House property in
Bangladesh deposited in a
Bank there 4,000
(d) Profit from business in

Indonesia deposited in Bank
there, this business is controlled

from India 5,000
(¢) Income accrued in Bhopal but
received in Singapur 6,000

_(f) Profit from business in India 15,000

(g). Past untaxed foreign income

brought into India during the

Previous year 20,000
From the above particulars, compute the Total
income of Shriram Sharma for the Assessment
Year 2019-20, if he is:

(i) Resident
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(if) Not ordinarily resident
(iii) Non-resident

1 / Unit-I1

2. Frefafes & Ty § s el =
qEYE 9digy :
(@) 7oA Tt w=n
(») T&-g 7=H
(c) THISHA W

State the main provisions of Income Tax for
the following :

(@) House Rent Allowance
(b) Rent Free House
(¢) Entertainment Allowance

37%a7/ OR
F-Faier 94 201920 & fow e X (St

T SO 1 FHA §) F d69 viYS H
F-AMG AE F TOAT R ;

(@) 99 T 60,000 WA AEI
(b) TeME WEl ¥ 1,000 YA WE|
(¢) TARSH =1 7 1,000 ¥fd @

(d) wrﬁmuﬂ%%vzmmaimﬂs,som
IHE TEE F1 HAYEH 7 88,800 |

(5)

(@ fift @ dfm 99w = 10% A
T ¥ 7 50,0001

(") TR afrgfd v ¥ s00 wh AL

(g) Taferran v ¥1,200 Wia g

() 6% frima 3 3¥ @ 98 FR FEEE
o Freft 99 wrl & fag & ¥ ww
¥ it =g frimm s ¥

() e 3 R/ v F (sEen 12 74E)
srgufe weM # gl § ¥ Freew
- ¥2,000 Wia wE. fEn @@ R, e
1 3faa s FRman T 90,000 ¥

Compute Taxable Income under the head

salary of Mr. X (an employee of a compmy)
for the Assessment Year 2019-20 :

(a) Salary ¥ 60,000 per month. -
() D.A. 10,000 per month.

(¢) Entertainment Allowance ¥ 1,000 per
- month. ¢

l (@) Employer's contribution to recognized

Provident Fund ¥ 88,800. His own
contribution was ¥ 88,800.

(¢) Interest @ 10% per annum on credit
balance of Recognized Providend Fund

amounted to ¥ 50,000.
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(f) City Compensatory Allowance ¥ 500 per
month.

(g) Medical Allowance ¥ 1,200 per month.

(k) He has been provided with a large car
for both official and personal use.
Employer bears all the expenses of the
car, '

() He is provided an unfurnished house by
the employer in a city (population 12
lakhs). The fair rental value of the house

is ¥ 90,000 per annum. Employer charges
¥ 2,000 from him per month as rent.

_ 1% / Unit-11
fio 4 Fx-Fraftor = 2019-20 ¥ fom sy

3.
et 7 W 39 F =Er ¥ gey
¥ e faa v s #1 w-faioo 9§
2019-20 & o o1 oM § winw 1) a9
TS o @ H Tor e

T

2004-05 ¥ HHM @I 9,04,000
THeR, 2018 H W9 fam 60,00,000
T o war famar, 2018
¥ @l 30,00,000
2004-05 T 2018-19 1 THfa Fawis
HEY: 113 a9 280 o)
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Mr. 4 provides the following data regarding
his transaction for the sale of his residential
house for the Assessment -Year 2019-20.
Compute the amount of Capital gains to be

included in the Total

Assessment Year 2019-20.

income for the

) L4
House purchased in 2004-05 9,04,000
Sold in November, 2018 60,00,000
Purchased another house in
September, 2018 30,80,000

The Cost Inflation Index for 2004-05 and
2018-19 was 113 and 280 respectively.

937/ OR
© 31 W, 2019 W WOE ¥R a@ g @

-7 @ e €

.
s

. ; 3 T
fa& o= |
A 7,50,000{ ¥ =1
. |fewa {== | 23,00,000
FHARE B AT 9,90,000
s=eEm | 1,00,000
TS o™ 4,60,000
23,00,000 23,00,000
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£9,90,000 ¥4 H HU=ME T WHIOW
Wiadve wos #§ siveE ¥ 90,000 Wi ¥
90,000 ¥ ¥ ve0,000 Fuifta fafy =
FHEE F uifaewe w2 @ ¥ s foy
Y g du Fuifa fafs & vvem o fag
g ¥ w-FraRw ad 2019-20 F faw
TEEE | A & MO i)

The Profit and Loss Account for the year
ending 31st March, 2019 is as follows:

¥ T

Cost of Sale proceeds
Goods sold 7,50,000{0f Goods 23,00,00
Salary to '

Employees 9,90,000)

Other expenses | 1,00,000

Net profit 4,60,000 - ‘
-~ [23,00,000 23,00,000

The salary of ¥ 9,90,000, comprises ¥ 90,000
as employees contribution towards RPF. Out
of ¥90,000, ¥ 60,000 is credited in the
employees ‘Provident Fund’ within due date
and the balance is credited after due date.
Compute the income from Business for the
Assessment year 2019-20.
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What do you mean by ‘set off of losses’ ?
Explain the provisions regarding set off of

losses and carry forward of losses while
computing the total .income ?

- 99497/ OR

ﬁomﬁﬂmqﬁ,zmgaﬁmﬁ
a@nﬁaﬁaﬁﬁqm%:

T

() =R % @M 5,50,000

(i) T Y T 12,000

(i) 9 @ weT ¥ Selwred=

©- YER Em™ 18,000

(iv) ¥ wfwdl |/ el

g ™ 10,000
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:
(v) = g #t oafag 1,24,000
(vi) & Yt wfw & faa W
HEEAC IR IR 16,000
flo wem ®| F-Frfewr =€ 2019-20 F
fou $a @ @ W IR T i)

Mr. Satya has the following income for the
* previous year ended 31st March, 2019 :

T
(/) Business Profit 5,50,000
(if) Short-term capital gains 12,000

(iiify Long-term capital gains
relating to Land and Building 18,000

(iv) Long-term capital gains
relating to other Assets 10,000

(v) Compensation for loss of
agency 1,24,000

(vi) Long-term capital loss on
sale of a capital asset 16,000

Compute the total income and tax liability of
Mr. Satya for the Assessment Year 2019-20.
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A I.{ov-v can an individual reduce his tax
liability ? Discuss the recognised method of

tax planning for it.
STqaT/ OR

W F-Prafor fofr @ &7 fe
qﬁﬁﬂﬁlﬂ’fﬁ%ﬁﬁ;ﬂ]mm%?“m
F w-fufwr ¥ wem = 5w v w9
R 3oy §2

What is best Judgementi Assessment ?.In what
circumstances it can be made ? Are there any '

remedies open to the assessee against such
assessment ?
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